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SSC CHSL (10+2) 2022

® 21 workers can make 1500 rotis in 18 days. How many workers are
required to make 1000 rotis in 21 days?

* 21 ffer 18 37 & 1500 T =T Tehel 21 21 AT & 1000 T o= & ferw
foraa srfrert <Y STTagaeRdT Bidt 22

A.10
B.12
C.15
D.16



SSC CHSL (10+2) 2022

* If we mark the hours of day and night on the dial of a clock from 1 to 24
with the letters of the English alphabet starting with 'C', then which letter
will represent the time of 16 o'clock?

* Jf2 TH UL & A W & 311 A hT THT o 90 97T 1 T 24 3Rl i
U AUTHTAT <k 3T H 'C' U UFET Y, AT 16 T hT THT hi-AT TR
TITRTT?

A.W
B.P
C.S
D.R




SSC CHSL (10+2) 2022

* Anticipate : future : : express regret : 2(SSC CGL 2016)
* GATTHT AT : WIS : @ TF Th BT : 2

\/Aesent./aﬁ'q'l'—r
B. Past./famd

—

(T. Moment./Qct
D. Life./<tra=




SSC CHSL (10+2) 2022

® Helicopter : Bracket : : Telephone : ? (SSC CGL 2016)

'%Fﬁilf’lm:a%: . SATHRIT ; 2
A.Scholz
.C
C.Graham Be

D. Bushwell




SSC CHSL (10+2) 2022

® Select the number from the given alternatives that can replace the question
mark (?) in the following table.

o 120 70 forehedl W O 3H AT T == hIfd AT AT atferent W Oer
g (2) = afaeenua =2 Ted 2

A.69
B.76

1R —X m— D.48

%
IE o)




SSC CHSL (10+2) 2022

* Select the option that is related to the third number in the same way as the
second number is related to the first number and the sixth number is
related to the fifth number.

* 37 TIheT T T hINTT ST O &I H IHT ThR Tated g, e IaR
el wE, qﬁwﬁwﬁﬁ%aﬁimm it ST ¥ et 2l

* 9:109: @181 15:2

= 9] ¥l
29 311

Ixzt1z29 D.284




SSC CHSL (10+2) 2022

®* Which two numbers should be interchanged to make the given equation
correct?

o 3T 7T GHISOT Y GE T o foT0 TR St deateit sl uem e fear st
ATE?

*15x27+36-3+12=111

T \ A5 & 36
| SX}/Z/ 3¢ {i if- S
135-2 9 — @ D.36&12




SSC CHSL (10+2) 2022

* A man can travel 90 km upstream in 9 hours and downstream in S hours.
What is the speed of the stream?

+ T SRR Y (00 Preireite st St e favm i affe 5 w2 #f v oy

TR QI H ATAT H TRl B %rmaﬁnﬁrw%v

— A f&(

-K\Y\




SSC CHSL (10+2) 2022

® Six persons A, C, O, P, H and K are sitting around a circular table facing
outside the center but not necessarily in the same order. H sits third to the
right of C. A is not an immediate neighbor of P. P sits second to the left of
K. Three persons sit between C and P when counted from the right of P.

How many persons sit between K and O?

* BE AN A, C, O, P, H 3T K Teh IR HT oh TRT 3T hg & AT T 3R

waﬂ%sé%% Srfer Tttt Rk St S A3 B B, C % a1 o AR
T W ASATR A, P &1 fheqm ugte TE 71 P, K%aﬁaﬁﬁu‘{wm

AT 2 P%saﬁ

af

[ ST 0T C ﬁp%maa‘l:r-qﬁsé%%maﬁxoaa

\/AA“ hree

C. None

D. insufficient information




SSC CHSL (10+2) 2022

* Statement:

° §0me Maw./ W@W%I
* Some july is june./&h® Wﬁj%l
* All June is March./@dt \_rlc'\-'-rﬂ'l'ﬁ%l
® conclusion:

AR
* I. Some May is June./%® q'sg\_rlj%l X Q_
® II. No July is March./aﬁ'é WW“’@'%I)& @
* III. Some march are june./$® mﬁmgr%l \/ %




SSC CHSL (10+2) 2022

® Select the combination of letters which when sequentially placed at the
blank spaces in the given series will complete the series.

* TERN oh IH HAS T T shitordt 8 S T Sfgert W shATTaR i T o

T TR ST ol O |
= \%TWFK“\
(30) CB.KRQTSQR

o

. QL(FK7§KIR5 KRS
Y




SSC CHSL (10+2) 2022

®* Rahul is older than Shashi but not as old as Kavita. Kavita is older than
both Shashi and Ashok. Ashok is younger than Shashi but older than
Monika. Who is the youngest among them?

* TEEA, TITIT & T & TATeh hiorat frem argt &t 71 i, wiivr ofiX sromes
S A T R B, mﬁrﬁsﬁa%ﬁﬁmnﬁﬁwﬁw%mﬁmm

HIT 3?2




SSC CHSL (10+2) 2022

* Statement:

® In the recent survey, it was found that people who regularly exercise for at
least 1 hour have a lower risk of diabetes.

* Conclusion:
* I. People with desk jobs will definitely suffer from diabetes.

* II. Some level of physical exercise is important for leading a healthy life.

* THAT: TTA o TALAUT H, T UTIAT AT foh T AT Fafua S U a3 /A 8 &7 1 6
STITH S &, Iv¢ WEHE hT T A ST 2|

o TSHY: R

* 1. 36 ST AT Rt R & werire & difgw g X LA30)

* IL. ToE S S o T e T st I es s wgearqut 8/ \




SSC CHSL (10+2) 2022

® There are seven members B, C, D, E, F, G and H in a family. H is the only
daughter-in-law of D. E is the sister of C. C is the only son of F, who is the
wife of D. B and G are sons of H. How is G related to F?

,F, G 3R HE| H, D I TwAT 95 51 E, C

* Teh URER | 6D E
fNTHRC, F, M eI aT g,

Y gatfera 22

T g

T8I BRG, HHFIAE G, F A

\A@son

B. Brother
C. Father
D.Son




SSC CHSL (10+2) 2022

®* Find the next term.

* AT UG [T TSI @ar

\ 7, ¢ @
°5,6.2,9,134,194,?

Byl

S C2 i B.21

| 4 C.28
v %\/Qr \ \ D.None of these
¢ ¢ IS (




SSC CHSL (10+2) 2022

® In a certain code language, DEPEND is written as EPHTJJ. How will
TRAVEL be written in that language? [SSC-CGL 2020]

o Uk At ST WeTH, DEPEND ' EPHTJJ fer@t Sirat 21 39 9T ®
TRAVEL ¥ 1@t ATw?

Grr;lfg/lc\ q.—— AMGZEXZA—




SSC CHSL (10+2) 2022

® In a certain code language, PYTHON is written as LMFRWN, how will
RHYTHM be written in that language? [SSC-CGL 2020]

» foret ffera e W H PYTHON &Y LMFRWN ot Sirar & 36t s &

RHYTHNE % 358 R e 2
¢ ?,; % o —  AMFRWEX—
I | I —BrMFRWEL
fg S T CNFRWES—__
S Ff /D@




SSC CHSL (10+2) 2022

* A boy running towards south turns to his right and runs. Then he turns to
his right and finally to his left. In which direction is he running now?

o ZTETUT ST 3T 9T T&T Ueh TS ehT 374 \@ AT § AR AWTar 7 | T 91
auﬁa;a‘fsﬁwﬁ?mﬁamﬁyﬁ R gHdT gl 31 g forer oo & wrr @t

2?2
N Y Q
\ \ A.East

B. North
C. West
D. South




SSC CHSL (10+2) 2022

®* What is the number of straight lines in the following figure?

» FreteTiRaa errenta & Hielt WaTeTt sht Ear T 82

A.10
B. 12
C.13
D. 17



